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input = jmlgzcbnnhxkwikauhxkwifilgzcgzri odlgka jcladcnhcsnkwilajc wiomfigz salagzgzxkbnla gzkadcdclagzgzcuka

uhuhcsri jpxkgz zclgwi wilglg jcficucufidckauhwi lafiwiomlanhib wsxkgz fiwitn jplauhuhib bnlglgjc qflgrnri kezcw

ilanh wiomfigz rblacswslgnhjc xkgz gzlguhkawifilgzcya nkficunkuhlalaomuhnhsaomri
s = input.split(' ')

key = []
result = "'
for i in range(len(s)):
j = s[i]
for k in range(@, len(s[i]), 2):
if j[k:k+2] not in key:
key.append(j[k:k+2])
result += chr(key.index(j[k:k+2]) + ord('a"))

result +=
print(result)
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input =
uhuhcsri jpxkgz zclgwi wilglg
ilanh wiomfigz rblacswslgnhjc
s = input.split(" ")
dic = {'od': 'y', 'lg': 'o’',
e,

‘om': 'h', 'fi': 'i’',
K,

"Ws': 'W', "ke': .e.,

jmlgzcbnnhxkwikauhxkwifilgzcgzri odlgka jcladcnhcsnkwilajc wiomfigz salagzgzxkbnla gzkadcdclagzgzcuka

jcficucufidckauhwi lafiwiomlanhib wsxkgz fiwitn jplauhuhib bnlglgjc gqflgrnri kezcw

xkgz gzlguhkawifilgzcya nkficunkuhlalaomuhnhsaomri

# dic = {'ie':'C','rk':'0",'vk':'n","11":"g",'hw':"r','ha':'a",'rd"':"t',"'jz":'u','aa":"'1",'sx":'i','nq': 's"', "cx

2'y'}
for i in s:
a =[]

for j in range(@, len(i),
a.append(i[j:j + 2])

print(a)

b =[]

for k in a:
if k in dic:

b.append(dic[k])

else:

2):
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b.append('_"') # AHRHA_HERE

txt = ''.join(b)
print(txt)
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